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MAT 536 Problem Set 2

Homework Policy. Please read through all the problems. Please solve 5 of the problems. I will
be happy to discuss the solutions during office hours.

Problems.

Problem 1. Let A and B be categories. Let
L:A— B, R:B— A,
be (covariant) functors. Let
0:1d4 = RL, 0(a) : a — R(L(a)),

n: LR = 1dg, n(b) : L(R(b)) — b,

be natural transformations of functors. This data is an adjoint pair of (covariant) functors if the
following compositions of natural transformations equal Idg, resp. Id,

(xp): R RLR YR,

Lo6

(1) : L= LRL™ R.

For every object a of A and for every object b of B, define set maps,
HE(a,b) : Homp(L(a),b) — Hom(a, R(b)),

(L(a) & b) (a 29 R(L(a)) 22 R(b)) ,

and

HE(a,b) : Homy(a, R(b)) — Homp(L(a),b),
(@ R(b)) (L(a) PO, L(R(b)) 1 b) .

(i) For L, R, 6 and n as above, the conditions (xg) and () hold if and only if for every object a
of A and every object b of B, H5(a,b) and HF(a,b) are inverse bijections.

(ii) Prove that both H%(a,b) and HE(a,b) are binatural in a and b.
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(iii) For functors L and R, and for binatural inverse bijections H%(a,b) and HF(a,b) between the
bifunctors
Hompg(L(a),b), Hom 4(a, R(b)) : A x B — Sets,

prove that there exist unique 6 and 1 extending L and R to an adjoint pair such that H5 and HZ
agree with the binatural inverse bijections defined above.

(iv) Let (L, R,60,n) be an adjoint pair. Let a (covariant) functor
R:B— A,
and natural transformations,
0:1dy= RoL,7i: LoR=1Idg,

be natural transformations such that (L, é, 5, 1) is also an adjoint pair. For every object b of B,
define 1(b) in Homg(R(b), R(b)) to be the image of Id, under the composition,

HE(R(b).b) ~

M) HomB(R(b), R(b))

Homp(b, b) Homp(L(R(b)),b)

Similarly, define J(b) in Homg(R(b), R(b)), to be the image of Id, under the composition,

Homy (9(b),b) ~ HE(R(b),b) =~

Homg(b, b) Hompg(L(R(b)),b) ——— Hompg(R(b), R(D)).

Prove that I and J are the unique natural transformations of functors,
I:R:}N%, J:}N%:R,

such that 6 equals (I o L) 06, 6 equals (J o L) o8, 7j equals n o (L o I), and n equals 7j o (L o J).
Moreover, prove that I and J are inverse natural isomorphisms. In this sense, every extension
of a functor L to an adjoint pair (L, R,#,n) is unique up to unique natural isomorphisms (7, .J).
Formulate and prove the symmetric statement for all extensions of a functor R to an adjoint pair

(L7 R? 97 77)‘

(v) Formulate the corresponding notions of adjoint pairs when L and R are contravariant functors
(just replace one of the categories by its opposite category).

Problem 2. Let R be a unital, associative ring. Let X be a finite set. For every function
f:X—=>R, o~ fo,

the support of f is the subset f~!(R\ {0}), i.e., those o with f, # 0. Let Fx be the subset of
Homgets (2, R) consisting of functions with finite support. Define addition componentwise,

f+g:2—>Ra (f+g)a:fa+gaa
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and define left-right R-actions componentwise,
refiE =R (rfle=r-(fs),
fr:X=R (f-1)e=(fs) 1
(i) Prove that with these operations, F, is an R-bimodule.
(ii) Define a set map iy, : ¥ — F, by the Kronecker delta function,

1, 7=o0,

@'g(a):Z—>R,Tr—>{O rto

Prove that this is well-defined, and prove that every element of Fy, can be expressed as an R-linear
combination (right or left) of elements in the image of ix. Assuming that 1 # 0 in R, prove that
ix, is injective, and prove that every nontrivial (finite) R-linear combination of (distinct) elements
of ¥ is nonzero.

(iii) Let N be any left R-module. Let j : ¥ — N be any set map. Prove that there exists a unique

homomorphism of left R-modules, B
j By — N,

such that ;o 5, equals j. Repeat this for right R-modules.

(iv) For every set map u : ¥ — =, the composition

Z-EOUSZ—>FE,

is a set map that gives a unique R-bimodule homomorphism by (iii). Denote i¢ o u by
F,: Fy — FE‘

Prove that Fiq,, is the identity on Fy. Also, for a set map v : = — ©, prove that F,., equals F;, 0 F),.
Conclude that F'is a covariant functor,

F : Sets — R — bimod.

(v) Denote by ® the “forgetful functor”,
® : R — mod — Sets,

that sends each left R-module M to the underlying set of M. Prove that & is faithful. Show that
Y — iy is a natural transformation of functors from Sets to Sets,

1 : Idgets = P o F.
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Similarly, for every left R-module M, for the identity map j = Id,,,
Jg:M — M, m—m,
by (iii) there is a unique left R-module homomorphism 3, which we will denote by 7y,
J:Fy — M,

such that 30 1y equals j, i.e., myroipy equals Idy,. Prove that M +— ny, is a natural transformation
of functors from R — mod to R — mod,

n: Fod=Idr_moq-

Finally, prove that for every set 3 and every left R-module M, the natural transformations ¢ and
n make (F, ®) into an adjoint pair of functors, i.e., they establish a binatural equivalence

HOIIIR_MOd(FE, M) = HomSGts(E, (I)(M))

Repeat all of this for right R-modules.
Problem 3. Let A, B, and C be categories. Let

L':A—BR:B— A,

be (covariant) functors, and let
¢ :1dys= R'L', o : 'R = 1dg,

be natural transformations that are an adjoint pair of functors. Also let

L":B—CR'":C— B,
be (covariant) functors, and let

0" :1dg = R"L", " : L"R" = Id,

be natural transformations that are an adjoint pair of functors. Define functors

L:A—C, R:C— A
by L=L"oL', R= R oR". Define the natural transformation,

0:1dy = Ro L,

to be the composition of natural transformations,

gL Rol! "L RoR' oL/ o I.
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Similarly, define the natural transformation,
n:LoR=Ide,
to be the composition of natural transformations,
L'olL'oR o R ™2™ 1o R L 1d,.

Prove that L, R, § and n form an adjoint pair of functors. This is the composition of (L', R, 0',7)
and (L", R",0".,n"). If A equals B, if L' and R’ are the identity functors, and if #" and 7' are the
identity natural transformations, prove that (L, R, 0,7n) equals (L”, R”,0",n"). Similarly, if B equals
C,if L” and R" are the identity functors, and if 8” and n” are the identity natural transformations,
prove that (L, R,0,n) equals (L', R',0',n'). Finally, prove that composition of three adjoint pairs
is associative.

Problem 4. A monoid is a triple (G, m,e) of a set, GG, a binary relation,
m:GxG— G,

and an element, e, of G’ such that m is associative, i.e., the following diagram commutes,

GxGxG 2 gya

Idcxml lm ,

GxG — (G

m

and such that e is a two-sided inverse to m, i.e., for every g in G, m(g,e) and m(e, g) both equal
g. For monoids (G, m,e) and (G',m',¢’) a morphism of monoids is a set map

u:G— G,
such that u(e) equals € and such that the following diagram commutes,

GxG X% G'x G

n | B

G — G
u
(i) Prove that the identity set map of every monoid is a morphism of monoids. For monoids
(G,m,e), (G';m/,e) and (G",m",€"), for morphisms of monoids,
v G—=G,u G — G
prove that the composition u = u” o v’

u:G— G,
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is a morphism of monoids. If (G',m/, e) equals (G, m, e) and if u’ equals Idg, prove that u equals u”.
Similarly, if (G”,m”,e") equals (G',m/, e) and if v’ equals Idg~, prove that u equals u'. Conclude
that these operations define a category Monoids whose objects are monoids and whose morphisms
are morphisms of monoids.

(ii) Denote by
®' : Monoids — Sets,

the “forgetful functor” that associates to every monoid (G, m,e) the underlying set GG, and that
associates to every morphism of monoids u : (G, m,e) — (G',m’,€') the set map u : G — G’. Prove
that @’ is a faithful functor. Prove that there exists a functor

L' : Sets — Monoids,
and prove that there exist natural transformations,
0 : Idgets = @' o L', 0’ : L' 0 ' = IdmMonoids,

such that (L', ®’, ¢, 1) is an adjoint pair of functors. For every set 3, the pair (L/(X),0'(X) : ¥ —
L'(%)) is called a free monoid associated to 3. One construction of L'(X) is the set of all finite,
ordered tuples of elements in 3 (“words”) with the empty word being the identity, and with m
given by concatenation of words.

(iii) Denote by Groups the category whose objects are groups and whose morphisms are group
homomorphisms. Denote by
® : Groups — Sets

the “forgetful functor” that associates to every group (G,m,e) the underlying set G, and that
associates to every morphism of groups u : (G, m,e) — (G',;m/,¢’) the set map u : G — G'. Prove
that ® is a faithful functor.

(iv) For every set X, let X, and ¥_ be disjoint copies of X, e.g., 3 x {+1} and 3 x {—1}. Let
(L(S2 U ), e)is (5, US) > (K5, US), ¢)

be a free monoid associated to ¥, LI ¥ _. Define ~' to be the binary relation on L'(¥, LI ¥_) such
that for every o € 3, and for every fr, fr € L'(3, UX_),

fr-iloy)-ilo-) - fr~" fr- fr~" fo-i(o-)-i(sigmay) - f.

For every triple f,g,h € L'(X, U >_), prove that f-h ~' ¢g-h if and only if f ~' g if and only if
h-f~"h-g. Let ~ be the weakest equivalence relation on L'(¥, LY _) generated by ~'. Conclude
that f-h ~ g-hif and only if f ~ g if and only if h- f ~ h- f. Denote by ¢ : L'(X, UX_) — L(X)
the quotient of F' by the equivalence relation ~. Prove that there exists a unique binary operation,

L L(D) x L(S) = L(T),
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such that ¢ : (F,-,e) = (L(X),,q(e)) is a morphism of monoids. Denote by js : ¥ — L(X) the
set map o — q(i(o4)). Prove that ¢(i(c_)) is a left-right inverse of jx(¢) in L(X). Conclude that
every element of L(X) admits a left-right inverse, i.e., L(X) is a group.

(v) Continuing the notation above, for every group (G, m,e) and for every set map k : ¥ — G,
define hy : ¥y — G to be h, and define h_ : ¥ — G to be h_(0_) = (hy(04))~*. Associated to
the set map

hy Uh S, UY. — G,

there exists a unique morphism of monoids, h= HqL),/ (hy Uh_),
h:L(Z Us)) =G,

such that h o equals hy U h_. Prove that for every pair of elements f,g € L'(Xy UX_) if f ~ g,
then h(f) equals h(g). Conclude that if f ~ g, then h(f) equals h(g). Therefore there exists a

unique set map,
HE(h): LX) — G,

such that HE(h) o q equals h = HE (h, LU h_). Prove that HZ(h) is a group homomorphism. Prove
that HL(h) is the unique group homomorphism such that HE(h) o js equals h. Prove that the set
map,

HE(S,G) : Homges (S, ®(G)) — Homgroups (L(X), G),

is a bijection. In particular, for every set map u : X — Y/, associated to the set map
Jsrou: Y — L(X),
there exists a unique group homomorphism L(u) = HE(jx o u),
L(u): L(X) — LX),
such that L(u) o jx equals jsr o u. Prove that the rule ¥ — L(X) and u — L(u) define a functor,

L : Sets — Groups.

(vi) Prove that ¥ — jy is a natural transformation,
Iy Idsets = P o L.
For every group G, associated to the set map Idg, there exists a unique group homomorphism

ne = Hy(1dg),
ne : L(®(G)) = G.

Prove that G — 7 is a natural transformation,

n:Lo® = Idgroups-

7
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Prove that (L, ®,j,7) is an adjoint pair of functors and that the bijections H% defined above are
the bijections naturally associated to this adjoint pair.

(vii) Denote by
®” : Groups — Monoids

the “forgetful functor” that associates to every group (G, m,e) that same datum (G, m,e) consid-
ered as a monoid. Prove that ®” is a fully faithful functor. Prove that there exists a functor

L" : Monoids — Groups,
and prove that there exist natural transformations,
0" : Idmonoias = ®" o L", " : L" 0 " = IdGroupss
such that (L”, ®” 0" ") is an adjoint pair of functors. For every monoid (G, m, ¢), the pair
(L"(G,m,e),0"(G,m,e) : (G,m,e) = L"(G,m,e))

is called a group completion associated to the monoid (G, m,e). Moreover, prove that the composi-
tion of the adjoint pairs (L', ®,i,n’) and (L”,®",0"”,n") is naturally isomorphic to the adjoint pair
(L? ®’ 07 77)'

Hint. The condition on compositions uniquely determines L”. In particular, for every monoid
(G,m,e), associated to the set map,

i : ®(G) — L(P'(Q)),
there is a group homomorphism,
0 - L(¥'(G)) = L'"(G),

such that the composition 52/; oig, denoted 0, is a morphism of monoids and such that 67, is initial
among all group homomorphisms,
t: L(®(Q)) =T,

such that the composition ¢ o i is a morphisms of monoids, i.e., the set map,
HL (G, 1) Homgroups(L"(G), T) — Homponoids(G, " (T)), u — u o 0,

is a bijection. Indeed, let L”(G) be the group quotient of the group L(®'(G)) by the normal
subgroup generated by all elements of the form ig(g) tig(g- ¢')ic(g') ™! for g,¢’ € G. Now use the
universal property of 8" to extend L” to a functor, observe that G +— 6, is a natural transformation,

9// : IdMonoids = L// © (I)Hv
and for every group (T, m, e), define

ny: L"(®"(T)) — T,

8
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to be the unique group homomorphism such that HE, (n4) equals Idg»(ry. Then T' — 77 is a natural
transformation,
77” : L” © CI)” = IdG-roupsa

that makes (L”, ®” 0" ") an adjoint pair.
(viii) For categories B, C, for functors
L":B—C, R":C— B,
and for natural transformations
0" :Idg= R"oL", n : L" o R" = Idg,

such that (L”, R”,0",n") is an adjoint pair, the adjoint pair is reflective if R” is fully faithful. In
this case, prove that there exists a unique binatural transformation

HE0 (b, 1) - Home(L"(R"(b)), ') — Home (b, V),
such that the composition with R”,

HE) (b,b)

Home(L"(R" (b)), 1) —" Home (b, V') 2= Homg(R'(b), R"(V)),

equals HE (R(b), ). In particular, taking ¥ = L”(R"(b)), denote the image of Idy by
m, :b— L'(R"(D)).

Prove that 7} is an inverse to ny : L”(R"(b)) — b. Thus, for a reflective adjoint pair, n” is a natural
isomorphism. Conversely, if 7 is a natural isomorphism, prove that the adjoint pair is reflective,
i.e., R” is fully faithful. In particular, for the group completion, conclude that the group completion
of the monoid underlying a group is naturally isomorphic to that group.

Problem 5 Denote by
® : Z — mod — Groups

the full subcategory of Groups whose objects are Abelian groups. For every group (G, -, €), denote
by |G, G] the normal subgroup of G generated by all commutators

lg,h] =g-h-g " -h7!

for pairs g, h € G. Denote by
9@ G — L(G),

the group quotient associated to the normal subgroup [G, G] of G. Prove that L(G) is an Abelian
group. Moreover, for every Abelian group (A, -, e), prove that the set map

HE - Homyg o (L(G), A) = Homgroups(G, ®(A)), v+ vofg,

9
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is a bijection. In particular, for every group homomorphism,
u:G— G,

the composition 0g o u : G — L(G') is a group homomorphism, and thus there exists a unique

group homomorphism,
L(u) : L(G) — L(G"),

such that HE(L(u)) 06 equals O ou. Prove that the rule G — L(G), u — L(u) defines a functor,
L : Groups — 7Z — mod.
This functor is called Abelianization. Prove that G — 605 is a natural transformation,
0 : Idgroups = ® o L.

For every Abelian group A, prove that [A, A] is the identity subgroup, and thus the quotient
homomorphism,

O a) : P(A) — O(L(D(A))),

is an isomorphism. Thus there exists a unique group homomorphism, just the inverse isomorphism
of 9@( A)s
na: L(®(A)) = A,

such that Og(a) 0 ®(na) equals the Idgay. Prove that A — 74 is a natural isomorphism,
n: Lod — Idemod'

Prove that (L, ®,0,n) is an adjoint pair.
Problem 6 Let A, B, and C be categories. Let

R:B—A R':C— B,
be fully faithful functors. Denote the composition R’ o R” by

R:C— A

i) If there exist extensions to reflective adjoint |>airs L/, R/, 9/, ! s L”, R”, 9”, i , prove that there
is also an extension to a reflective adjoint pair (L, R, 9, 77)

(ii) If there exists an extension of R to a reflective adjoint pair (L, R, 6, 7), prove that there exists
an extension (L”, R”,0",n"). Give an example demonstrating that R’ need not extend to a reflective
adjoint pair (for instance, consider the full subcategory of Abelian groups in the full subcategory
of solvable groups in the category of all groups).

(iii) A monoid (G, -, e) is called left cancellative, resp. right cancellative, if for every f, g, h in
G, if f-gequals f-h, resp. if g- f equals h - f, then g equals h. A monoid is cancellative if it is

10
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both left cancellative and right cancellative. A monoid is commutative if for every f,g € G, f - g
equals g - f. A commutative monoid is left cancellative if and only if it is right cancellative if and
only if it is cancellative. Denote by

LCanMonoids, RCanMonoids, CanMonoids, CommMonoids, CommCanMonoids C Monoids

the full subcategories of the category of all monoids whose objects are left cancellative monoids,
resp. right cancellative monoids, cancellative monoids, commutative monoids, commutative can-
cellative monoids. In each of these cases, prove that the fully faithful inclusion functor R extends
to a reflective adjoint pair. Use (ii) to conclude that for every inclusion functor among the full
subcategories listed above, there is an extension of the inclusion functor to a reflective adjoint pair.

(iv) In particular, prove that the group completion adjoint pair
(L : Monoids — Groups, R : Groups — Monoids, 6, )
factors as the composition of the reflective adjoint pair
(L' : Monoids — CanMonoids, R’ : CanMonoids — Monoids, ¢',7/),
and the restriction to CanMonoids of the group completion adjoint pair
(L// — L o R/7R//,6”,n//).

Similarly, prove that the composition of the Abelianization functor and the group completion
functor

(L : Monoids — Z — mod, R : Z — mod — Monoids, 0, 7),

factors through the reflection to the full subcategory of commutative, cancellative monoids,

(L' : Monoids — CommCanMonoids, R’ : CommCanMonoids — Monoids, ¢',7’).

Problem 7 Let A and B be unital, associative rings, and let ¢ : A — B be a morphism of unital,
associative rings.

(i) For every left B-module,
(N,mBJV :Bx N — N),

prove that the composition
Ax N 2N B N PN N

makes the datum
(N,mB7No(¢ X IdN) cAX N — N),

an R-module. For every morphism of left B-modules,

uw: (N,mpn) — (N',mpn),

11
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prove that also
U . (N, mp,nN © (¢ X IdN>) — (N/,mBJV/ @) (¢ X IdN/))

is a morphism of left A-modules. Altogether, prove that the association (N, mpn) +— (N, mpy o
(¢ x Idy)) and u +— u is a faithful functor

R4 : B —mod — A — mod.

In particular, in the usual manner, for every unital, associative ring C' and for every B —(C-bimodule
N, prove that R,(N) is naturally an A — C-bimodule.

(ii) Formulate and prove the analogous results for right modules, giving a faithful functor
R? :mod — B — mod — A.

For every C' — B-bimodule N, prove that R?(N) is naturally a C' — A-bimodule. In particular for
the B — B-bimodule N = B, R?(B) is naturally a B — A-bimodule.

For every left A-module M, denote Lgs(M) = R?(B)®4 M. For every morphism of left A-modules,
u: M — M,

denote by Lg(u) = Idge(p) @ u,
Ly(u) : Ly(M) — Ly(M'),

the associated morphism of left B-modules. Prove that the associations M +— L4(M) and u +—

L4(u) define a functor
Ly: A—mod — B —mod.

(iv) Denote by 1p the multiplicative unit in B. For every left A-module M, prove that the

composition
1pxIdps BB,Mm

M —=BXxXM—— B®s M,

is a morphism of left A-modules,
QM M — R¢(L¢<M)),

i.e., for every a € A and for every m € M,
Bem(lp,a-m) = Bpuy(lp - ¢la),m) = Bpu(P(a)-1g,m).
Prove that the association M — 0;; defines a natural transformation

0 :IdA—moqa = R¢> o L¢>‘

(v) For every left B-module (N, mp ), for the induced right A-module structure on R?(B) and
left A-module structure on N, prove that

mB’NIBXN—>N

12
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is A-bilinear, i.e., for every a € A, for every b € B, and for every n € N,

mpn(b,¢(a)-n)=mpn(b-d(a),n).

Thus, by the universal property of tensor product, there exists a unique homomorphism of Abelian
groups,
my:B®&s N — N,

such that my o 8p n equals mp n. Prove that my is a morphism of left B-modules, i.e., for every
b,b' € B and for every n € N,

mN(b : ﬂB,N(b/7 n)) = mN(BB,N(b : bl? n)) = mB,N(b : b/, n) = mB,N(ba mB,N(b/? n))
Prove that the association N — my defines a natural transformation

m: R¢ o L¢ = Idg_mod-

(vi) Prove that (Ly, Ry, 0, m) is an adjoint pair of functors. In particular, even though R, is
faithful, the natural transformation m is typically not a natural isomorphism. Conclude that one
cannot weaken the definition of reflective adjoint pair from “fully faithful” to “faithful”.

(vii) Prove the analogues of the above for right modules. Also, taking A to be Z, and taking
¢ : Z — B to be the unique ring homomorphism, obtain an adjoint pair

(L" :Z —mod — B —mod, R" : B—mod — Z — mod, §",7n")
whose composition with the adjoint pair
(L' : CommCanMonoids — Z — mod, R' : Z — mod — CommCanMonoids, ¢, /")
is an adjoint pair (L, R, 6,7) extending the forgetful functor
R : B —mod - CommCanMonoids.

Composing this adjoint pair further with the other adjoint pairs above gives, in particular, an
adjoint pair (F, ®,7,7n) extending the forgetful functor

® : B — mod — Sets.

The functor F': Set — B — mod and the natural transformation i is called the “free B-module”.
Use the usual functorial properties to conclude that F' naturally maps to the category of B — B-
bimodules.

Problem 8 Let A be an associative, unital ring that is commutative. A (central) A-algebra is a
pair (B, ¢) of an associative, unital ring B and a morphism of associative, unital rings, ¢ : A — B,
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such that for every a € A and every b € B, ¢(a) - b equals b - ¢(a), i.e., #(A) is contained in the
center of B. In particular, the identity map

Idp : R?(B) — R4(B),

is an isomorphism of A — A-bimodules making B into a left-right A-module.

For A-algebras (B, ¢) and (B’,¢'), a morphism of A-algebras is a morphism of associative, unital
rings, ¢ : B — B’, such that ¢ o ¢ equals ¢'. In particular, ¢ is a morphism of left-right A-modules.

(i) Prove that the usual composition and the usual identity maps define a faithful (but not full!)
subcategory
R: A — algebra —+ A — mod

whose objects are A-algebras and whose morphisms are morphisms of A-algebras. The rest of
this problem extends this to an adjoint pair that is a composition of two other (more elementary)
adjoint pairs.

(ii) Let n > 2 be an integer. Let M, ..., M,, be (left-right) A-modules. For every A-module U, a
map
vy My x---x M, = U,

is an n-A-multilinear map if for every ¢ = 1,...,n, for every choice of
m; = (ml,...,mi_l,miﬂ,...,mn) e My x -+ x M;_1 X Mi—l—l X+ X Mn,
the induced map
Vi, 2 My = U, my = y(ma, .o omy_q, my, mygq, ..., My,),

is a morphism of A-modules. Prove that there exists a pair (T(M,..., M,), By, ...am,) of an A-

module T'(My, ..., M,) and an n-A-multilinear map

.....

/BMl ..... MNMlx'XMn%T(M17,Mn)7
such that for every n- A-multilinear map ~ as above, there exists a unique A-module homomorphism,
w:T(My,...,M,) — U,

such that w o By, . um, equals v. For n = 3, prove that S, a, v, factors through

-----

/6M17M2 X Id]w3 . M1 X M2 X M3 — (Ml XA MQ) X Mg.
Prove that the induced map

Banorsns - (My @4 My) x My — T (M, Ma, Ms),

14
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is A-bilinear. Conclude that there exists a unique A-module homomorphism,
u (Ml Xa MQ) XA M3 — T(Ml, MQ, Mg)

Prove that this is an isomorphism of A-modules. Similarly, prove that there is a natural isomorphism
of A-modules,
My @4 (My @4 Mz) — T(My, My, M3).

Conclude that there is a natural isomorphism of A-modules,
(My ®a Ma) @4 My = My @4 (Mo ®4 Ms),

i.e., tensor product is associative for A-modules. Iterate this to conclude that there are natural
isomorphisms between all the different interpretations of M; ®4 -+ ®4 M, and each of these
is naturally isomorphic to T'(Mi,..., M,). (All of this is also true in the case of M; that are
A;_1 — Ai-bimodules with n-(A;);-multilinearity defined appropriately.)

(iii) Let B be an A-algebra. A Z,-grading of B is a direct sum decomposition as an A-module,
B = @’I’LZOBWJ

such that for every pair of integers n,p > 0, the restriction to the summands B, and B, of the
multiplication map,
mp: B, x B, = B

factors through B,,1,. The induced A-bilinear map is denoted
MBnp : Bn X By — Byyp.

In particular, notice that this means that By is an A-subalgebra of B, and every direct summand
B, is a By — By-bimodule. Finally, for every triple of integers n,p,r > 0, the following diagram

commutes,
MmB,n,p XIdB,r

B, x B, x B, B,y x B,
ldg, XmB,pmJ{ J{mBJH:p,T

Bnx Byyy ——  Buipir

MB,n,p+r

Prove that a Z-graded A-algebra is equivalent to the data ((By,)nez, , (MBnp)@mp)ez, xz, ) satisfying
the conditions above.

(iv) For Z, -graded A-algebras ((Bn)nez, , (MBnp)mp)ezsxz,) and ((B))nez,, (MB np) mp)ezy 2., )
a morphism of Z,-graded A-algebras is a morphism of A-algebras,

v :B— B,
such that for every integer n > 0, ¥(B,) is contained in B/. The induced A-linear map is denoted

n

Yy : B, — Bl

15
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In particular, 1y is a morphism of A-algebras. Relative to 1y, every map 1, is a morphism of
By — Byp-bimodules. Finally, for every pair of integers n,p > 0, the following diagram commutes,

B, x B, 2% B x B,

mB,n,pl lmB’,,n,p

/
Bn+p T n+p
n-rp

Prove that a morphism of Z-graded A-algebras is equivalent to the data (i, )ncz, satisfying the
conditions above. Prove that composition of morphisms of Z-graded A-algebras is a morphism of
Z,-graded A-algebras. Prove that identity maps are morphisms of Z, -graded A-algebras. Conclude
that there is a faithful (but not full!) subcategory,

L" .7, — A — algebra — A — algebra,

whose objects are Z,=graded A-algebras and whose morphisms are morphisms of Z,-graded A-
algebras. Prove that this extends to an adjoint pair (L”, R”, 0", n") where

R": A — algebra — Z, — A — algebra,
associates to an associative, unital A-algebra (C,m¢) the Z -graded A-algebra,

((Cn)n€Z+v (mn7p)(n7p)€Z+XZ+) = ((C)neer’ (m)(n,p))-

Thus Cj equals C' as an A-algebra, and the Cy-algebra @,,C, is equivalent as a Z, -graded C-algebra
to C[t] = C ®y Z][t], where Z][t] is graded in the usual way.

(v) Let M be an A-module. For every integer n > 1, denote
T M) =T(My,...,My) =M = M @4 ®4 M,
with the universal n-A-multilinear map,
B M™ > TH(M),
Similarly, denote T9(M) = A. For every pair of integers n,p > 0, the composition,

M™% MP S e 20 e,

is n-A-multilinear, resp. p-A-multilinear in the two arguments separately. Thus the composition
factors as

B x By

M™ x MP T(M) x TE(M) 225 77 (M),
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where p}7 is A-bilinear. Finally, for every triple of integers n,p,r > 0, associativity of tensor

products implies that the following diagram commutes,

pag” X1y ()

TH(M) x T3(M) x T(M) TH™(M) x Tj(M)

IdT:‘L(M) prv’[rl lu;\zj—p,r
TN < TG —— T
it

Thus, the data ((TH(M))mez,, (U3]) (np)ez, xz, ) defines a Z,-graded A-algebra, denoted Tx(M)
and called the tensor algebra associated to M. For every Z.-graded A-algebra

B = ((Bn)n€Z+7 (mB,n,p)(n,p)EZJrXZJr);
for every integer n, inductively define the A-module morphism
7739,11 : TZ<Bl> — Bn?

by 0501 A — By is the usual A-algebra structure map ¢, 7, TY(By) — B is the usual identity
morphism on By, and for every n > 0, assuming that 7}, is defined,

NB s - Ty (By) = B1 ®4 T4{(B) = By,
is the unique A-module homomorphism whose composition with the universal A-bilinear map,
By By X T (B) = Ba®4 Th(B),
equals the A-bilinear composition

Idp, xnB,n MB 1n

Bl X TX(Bl) Bl X Bn mm— Bn+1-

Use associativity of tensor product (and induction) to prove that for every pair of integers n,p > 0,
the following diagram commutes,

/ /
nB,nXT]B,p

TE<BI) X Tz(Bl) Bn X Bp

n,p
KE) l lmB,r},p

T3P (By) n,—> By
B,n+p

Conclude that (13, )nez, is a morphism of Z, -graded A-algebras,

ng : Ta(By) — B.
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(vi) Denote by
R :7Z, — A — algebra — A — mod

the functor that associates to a Z,-graded A-algebra ((Bpn)nez,, (MBnyp)np)cz, xz,) the A-module
By and that associates to a morphism (¢, )nez, of Z,-graded A-algebras the A-module ;. For
every A-module M, denote by

0\ M — R(Ta(M))
the identity morphism M — T4 (M). Prove that this defines an adjoint pair (T4, R',6',1). Com-
posing with the adjoint pair (L”, R”, 60" 1) gives an adjoint pair (L” o T, R,0,7n) extending the
faithful (but not full!) forgetful functor

R:A—-Alg— A—mod, B— B.
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